BT TRIA O - HESHEE R < 425211 F06 A KRIBHE
s s A i O
BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 36,670 87,319 41,969 45,350
BIRENT 4 11 5 6
RIRET2T 27 59 33 26
RIRET3T 57 176 87 89
RIRET4T 374 994 489 505
B 462 1,240 614 626
REH 2,482 6,261 2,968 3,293
L&A 3,949 9,310 4,427 4,883
5E 2,333 5,867 2,854 3,013
B AN 1,204 2,881 1,347 1,534
BEET 1,028 1,747 840 907
BER2T 842 1,661 777 884
BER3T 854 1,660 799 861
B 2,724 5,068 2,416 2,652
BEXRE 239 656 320 336
= 2,048 5,192 2,476 2,716
hERE 607 1,562 720 842
e 2,246 5,311 2,570 2,741
25 L ET 2,184 5,352 2573 2,779
B &AL BT 74 171 72 99
BEFEILET1T 586 1,397 656 741
HEFILET2T 588 1,447 697 750
HEF RT3 T 524 1,296 624 672
g 1,772 4311 2,049 2,262
B & it B Fr ET 626 1,554 762 792
B & HEF T 1 1 0 1
BHERERETTT 592 1,287 615 672
BHEFERET2T 622 1,453 704 749
BHEFERET3T 744 1,769 843 926
BHEHERET4T 460 1,098 530 568
BHEFERETST 793 1,789 858 931
BHEHEFEET6T 847 2,099 1,020 1,079
HEFMRETTT 834 2,078 1,010 1,068
HEHEFEETST 43 122 55 67
g 4936 11,696 5,635 6,061
HEF R FET 1,703 3,806 1,854 1,952
5| EFET1T 554 1,516 765 751
5| EFHT2T 758 1,888 916 972
5| BFHT3T 705 1,508 739 769
g 2,017 4912 2,420 2,492
ERENT 524 1,338 648 690
EIZET2T 257 622 304 318
EIREI3T 462 1,348 663 685
EIZETAT 656 1,597 763 834
EIZEIST 491 1,060 542 518
g 2,390 5,965 2,920 3,045
M EFHE 2,637 6,131 2,931 3,200
J\THENT 28 30 9 21
J\THET2T 27 76 38 38
J\THEI3T 56 138 66 72
B 111 244 113 131
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